0.12207 Hz 0.14648 Hz 0.15869 Hz

Re=50 Re=75 025 Re=100
0.006 L
0.08 - oaf
0.005 “F
0.004 - 0.06 - 015
5 o 0151
S < ¢ r
o o o L
0,003 o a [
0.04 - 01l
0.002 I
002 005
0.001 3
1 1 J 1 | I L 1 1 J
0 05 1 15 o 05 1 15 ° 05 1 15
Frequency (Hz) Frequency (Hz) Frequency (Hz)
0.15869 Hz 0.15869 Hz
Re=125 .15869 Hz . Re=175
Re=150 L
04t 05 L
05
04f g
03 o4r
] 503 3ol
z : 2
So02k g c
02 02
01t L
01f 01k
ol e 0 1 1 1 ! 1 1 1 [0 SRR NN I IAI AR IVATArE IV )
05 1 15 02 04 06 08 1 14 02 04 06 08 1 14
Frequency (Hz) Frequency (Hz) Frequency (Hz)
0.15869 Hz 0.15259 Hz
- 06~ Re=250
0.15869 Hz Re=225
Re=200
osf 051 05
04 04 04
5] gus g
Zoaf g0 o3
3 o o
4
02 02~ 02
01f 01p 01
! ! ! ! ! ! | ) SR Y.V SN SN SAVATIN AVEFAEN SNVATN W ol iy v
02 04 06 08 1 14 02 04 X E 14 02 0 06 08 14
Frequency (Hz) Frequency (Hz) Frequency (Hz)
.14648 Hz 0.14648 Hz 0.085449 Hz -
Re=275 Re=300 Re=325
06
05 02k
05
04f
04 0151 0.177 Hz
[} & & 0.14648 Hz
2 03F H 3
g £o3f 2
c a o
02f
02f
0.05 -
01f 01
0‘“‘n‘/\‘|‘H|‘H|‘H|‘H|‘H|H ol A 0 VAN
02 04 06 08 1 12 14 02 04 06 08 1 12 14 0.2
Frequency (Hz) Frequency (Hz) Frequency (Hz)

Figure 6-6. Variation of transverse velocity [at point (x, y)= (1.23, 0)] spectra with Reynolds
number (Velocity ratio 3:1 and L1=6). Continue...
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Figure 6-6. Variation of transverse velocity [at point (x, y)= (1.23, 0)] spectra with Reynolds
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Figure 6-7. Variation of transverse velocity [at point (x, y)= (1.23, 0)] spectra with Reynolds
number (Velocity ratio 3:2 and L1=6).
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Figure 6-8. Variation of transverse velocity [at point (x, y)= (1.23, 0)] spectra with Reynolds
number (Velocity ratio 3:1 and L1=10). Continue...
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Figure 6-8. Variation of transverse velocity [at point (x, y)= (1.23, 0)] spectra with Reynolds
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Figure 6-9. Variation of transverse velocity [at point (X, y)= (1.23, 0)] spectra with Reynolds
number (Velocity ratio 3:2 and L1=10). Continue...
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Figure 6-9. Variation of transverse velocity [at point (X, y)= (1.23, 0)] spectra with Reynolds
number (Velocity ratio 3:2 and L1=10).
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Figure 6-10. Variation of mean lift. coefficient with Reynolds number (Shear free streams).
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Figure 6-11. Variation of mean drag coefficient with Reynolds number (Uniform and shear
free streams)
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Figure 6-12. Variation of instantaneous vorticity contours [Broken line (@, , @nu

Aw)=(-20.22, 0, 0.8088); Solid line (.., @, Aw)=(0, 20.22, 0.8088)] with
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Figure 6-12. Variation of instantaneous vorticity contours [Broken line (@

Aw) =(-20.22, 0, 0.8088); Solid line
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Reynolds number (Velocity ratio 3:1 and L1=6). Continue...
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